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BT 495 158 31.9% R2.4.1
JbiE 1212 404 33.3% H31.4.1
HLIR T 1771 554 31.3% H31.4.1
LRI 704 203 28.8% H31.4.1
Fixm 541 148 27.4% H31.4.1
BEE™ 482 113 23.4% H31.4.1
/N =135 444 122 27.5% H31.4.1
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BT YbLM | RR/ER | D bR |RERULAR| S brikaE| I RF
YSY s 80 6 162 32 242 38 15.7% R2.4.1
JbiE 1130 68| T—xBL| T—&%L 1130 68 6.0%| H31.4.1
LR 996 150 2181 356 3177 506 15.9%| H31.4.1
LRI 159 18 240 70 399 88 22.1%| H31.4.1
Fixm 188 25 239 63 427 88 20.6%| H31.4.1
BEE™ 99 9 185 54 284 63 22.2%| H31.4.1
s 9/N=Ts] 82 8 137 39 219 47 21.5%| H31.4.1




